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Aufgaben-Quickname: 7649

Aufgabe 1
Quick:
7649

Berechne.

a) 8507− 4 = 8503 b) 5831− 11 = 5820 c) 3902− 2 = 3900
d) 9039− 20 = 9019 e) 7126− 5 = 7121
f) 3194− 64 = 3130 g) 5936− 4 = 5932 h) 7705− 1 = 7704

Aufgabe 2
Quick:
7649

Berechne.

a) 43− 4 = 39 b) 68− 6 = 62 c) 74− 6 = 68
d) 97− 1 = 96 e) 37− 7 = 30 f) 76− 7 = 69

Aufgabe 3
Quick:
7649

Berechne.

a) 323− 3 = 320 b) 935− 2 = 933 c) 465− 1 = 464
d) 949− 8 = 941 e) 548− 5 = 543 f) 239− 3 = 236
g) 577− 4 = 573 h) 888− 5 = 883

Aufgabe 4
Quick:
7649

Berechne.

a) 7686− 67 = 7619 b) 8945− 14 = 8931
c) 8364− 34 = 8330 d) 2784− 8 = 2776
e) 4821− 20 = 4801 f) 7330− 13 = 7317
g) 4051− 9 = 4042 h) 4822− 2 = 4820

Viel Erfolg!
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